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—_ 3 In an arithmetic progression, the first term is 40 and the sixth

¢

term is 25. Find

(éSGPKEJ'
(a) the common difference Call
(b) the least value of n such that the sum of the first n {9 82_)

terms of the series 1s negative.

(i) Find the limiting sum of the series 2 + 1-+ % + ...,

o

2 . . =
—  Which term of the sequence -8, -2, 4, 10, ... is the number 208? (SCCGrGrS
1991 )
3 For an arithmetic i i ;
< progression the fifth terrn is 16 and the eleventh term is 40. 199)
- Find the first term and the common difference. Hence find how many t;zs'ms must ( Shace )
be added to obtain a sum of 312.
() ¥rite the formulae for the
A
(&) nth term
. (f.‘>) swn to n terms of an A.P. /Asc)ﬂom qu‘Q/
A 4
(1i1)  Hence write expressions for the fourth term of an A.P. and the
first five terms of an A.P. in terms of a and d.
(Zi2) In an A.P. the ratio of the second term to the fourth term is 11 : 13
and the sum of the first five terms is 30. Find the first term and
common difference.
S ind th 1 !
e Find the value of CS\-’dﬂe‘j Gl “7\71_\ S CL\QQ})
20 |[Q4-
S  (5n - 1)
n=1
,6.. The third term of a G.P. is 27 and the fifth term is 234 . (:Danebcmk /993)
) <53 ,
Find the sequenceg(s). 1e
1 The first three terms of a geometric series are ( Cq-qul‘c Terel )
2, 6, 18 1949
Find the value of the fifteenth term leaving your answer in index form.
8 hilst the numbers a, b, 12 form
£ The numbers 4,a,b form a G.P. whils e s
an A.P. Find the values of a, b. (PLc 1984)
Ve
9 Given the arithmetic series 180 + 174 + 168 + ....... Lkﬁrngi)

a) Find the value of the twenty-third term.
b) Find the least number of terms such that the sum should be

negative.
I8  In an arithmetic sequence, the fourth term is 12 and the fourteenth term is 62. ( Catholre Tried
(i) Find the first term and the common difference. 1994 /

(i)  Calculate the sum of the first 50 terms of this sequence.
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